
SAP ABAP table TVKK {Sales Activity Types}

TVKK

MANDT [CLNT (3)]

KTAAR [CHAR (4)]

KOPGR [CHAR (4)]

PARGR [CHAR (4)]

KAPPL [CHAR (2)]

KALSM [CHAR (6)]

TXTGR [CHAR (2)]

AFART [CHAR (4)]

AGART [CHAR (4)]

AUART [CHAR (4)]

GUART [CHAR (4)]

LAART [CHAR (4)]

REART [CHAR (4)]

SOART [CHAR (4)]

KTAFK [CHAR (4)]

AUMA1 [CHAR (4)]

AUMA2 [CHAR (4)]

KPAFK [CHAR (2)]

STGRU [NUMC (3)]

FEHGR [CHAR (2)]

AR_OBJECT [CHAR (10)]

STGKK [CHAR (2)]

PA_PLTYPE [CHAR (11)]

ABPATTERN [NUMC (4)]

ISP_KAPPL [CHAR (2)]

ISP_KALSM [CHAR (6)]

 TVKK-KTAFK = TVKK-KTAAR 
0..N{0,1}

T000

MANDT [CLNT (3)]

 TVKK-MANDT = T000-MANDT 

0..N

1

T445P

SCTYP [CHAR (11)]

 TVKK-PA_PLTYPE = T445P-SCTYP 

0..N

{0,1}

T681A

KAPPL [CHAR (2)]

 TVKK-ISP_KAPPL = T681A-KAPPL 

0..N

{0,1}

 TVKK-KAPPL = T681A-KAPPL 
0..N

{0,1}

T683

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KALSM [CHAR (6)]

 TVKK-ISP_KALSM = T683-KALSM 
0..N

1

 TVKK-KALSM = T683-KALSM 0..N

{0,1}

TKSF

MANDT [CLNT (3)]

STGKK [CHAR (2)]

 TVKK-STGKK = TKSF-STGKK 
0..N

1 TOADV

MANDT [CLNT (3)]

AR_OBJECT [CHAR (10)]

 TVKK-AR_OBJECT = TOADV-AR_OBJECT 

0..N

0..N

TPAR

MANDT [CLNT (3)]

PARVW [CHAR (2)]

 TVKK-KPAFK = TPAR-PARVW 

0..N{0,1}

TTXG

MANDT [CLNT (3)]

TDOBJECT [CHAR (10)]

TXTGR [CHAR (2)]

 TVKK-TXTGR = TTXG-TXTGR 

0..N

{0,1}

TVAK

MANDT [CLNT (3)]

AUART [CHAR (4)]

 TVKK-AFART = TVAK-AUART 

0..N

{0,1}
 TVKK-AGART = TVAK-AUART 

0..N

{0,1}
 TVKK-AUART = TVAK-AUART 

0..N

{0,1}

 TVKK-AUMA1 = TVAK-AUART 

0..N

{0,1}

 TVKK-AUMA2 = TVAK-AUART 

0..N

{0,1}

 TVKK-GUART = TVAK-AUART 0..N
{0,1}

 TVKK-LAART = TVAK-AUART 

0..N
{0,1}

 TVKK-REART = TVAK-AUART 

0..N

{0,1}

 TVKK-SOART = TVAK-AUART 

0..N

{0,1}
TVC6

MANDT [CLNT (3)]

STGRU [NUMC (3)]

 TVKK-STGRU = TVC6-STGRU 0..N
{0,1}

TVC_FOLLOW_UP

MANDT [CLNT (3)]

ABPATTERN [NUMC (4)]

ABFUNCTION [CHAR (4)]

 TVKK-ABPATTERN = TVC_FOLLOW_UP-ABPATTERN 

0..N

1

TVHB

MANDT [CLNT (3)]

OBJEKT [CHAR (10)]

BIFGR [CHAR (4)]

 TVKK-KOPGR = TVHB-BIFGR 

0..N

{0,1}

TVPG

MANDT [CLNT (3)]

PARGR [CHAR (4)]

 TVKK-PARGR = TVPG-PARGR 

0..N

{0,1}

TVUV

MANDT [CLNT (3)]

FEHGR [CHAR (2)]

 TVKK-FEHGR = TVUV-FEHGR 

0..N

{0,1}


